ETtavainym otic Metatponeg Mikovg

1. MoAdamAaocalw Kot Stapw voepa.

37X10=....... 58X 10 = ....... 69X10= ...

18X 100 =....... 23X100=....... 29X100=.......
25:10=....... 1.360:10 = ....... 2.000:10 = .......
700:100 = ........ 3.000:100 = ....... 2.000:100 = ........

2. Kavw Tig pETATPOTEG

4= XWA. 35u.= O&K.
250ek.= O€K. 640 Sek.= T

69 Sek.= XA 890 p= EK.
6.000 xyA=______ ek 3.400 k.= L.
46p=____  XW. 740.= O¢EK.
890¢k.= O¢K. 654 Sek.= T

78 Sek.= XA 630 u= K.
6.700 yA.=____ &k 7.620 ex.= L.

3. Kavw toug KaBeToug ToAAATAXCLAGOVUG:

35X63= 54x27= 98x32=




